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8 |YfEOA {EX 38 41 791 8.4 70.6/#E
Ofir |LURE BEah 37 41 78/ 7.2 70.8/%E
1065 |BE B 42 48 90| 19.2 70.8/%E
11462 [S3F FHE 43 41 84| 13.2| 70.8|E
1260 |EE M=E 43 46 89| 18.0/ 71.0
13 |EH BE= 33 37 700 -1.2] 71.2
1446 &R =B 40 42 82| 10.8| 71.2
154 |thff FH 37 38 75 3.6/ 71.4/%Eg
164 B3R 1E# 40 41 81 9.6/ 71.4
17461 |7kE 1= 42 39 81 9.6/ 71.4
18462 ;K [EE 46 46 92| 20.4) 71.6
1946 |y A F] 44 42 86| 14.4| 71.6
20 Bn HH 43 43 86| 14.4| 71.6|RE
216 BN Z=— 41 39 80| 8.4| 71.6
22460 |8 HBHX 44 42 86| 14.4) 71.6/RE
26 AT & 36 38 74/ 2.4) 71.6
2451 |EHAT  sh#E 37 37 74/ 2.4) 71.6
251 | B EH 39 40 791 7.2 71.8/kE
265 (O A 44 47 91| 19.2| 71.8
21 |#HE B 42 43 85| 13.2| 71.8
284s [IElE BR= 36 36 721 0.0] 72.0
290 |FxF HEKER 40 38 78/ 6.0] 72.0
0 Bk B 38 46 84| 12.0/ 72.0/kE
31 AN Z— 38 40 78/ 6.0/ 72.0
324 |;E BEE 38 40 78/ 6.0] 72.0
L B AH 40 44 84! 12.0| 72. 0|k =E
M | KHF FX 49 46 95| 22.8| 72.2
bl TR EF 43 58| 101| 28.8| 72.2|%&E
364s | AiE B 43 46 89| 16.8| 72.2
3L BNl FRX 48 40 88| 15.6/ 72.4
381 |HE E 37 39 76 3.6 72.4
G EE —2 38 38 76 3.6 72.4
0 RE =EE 44 44 88| 15.6| 72. 4|®E
M mE &t 39 43 82 9.6 72.4
2610 =R FZ 41 41 82 9.6 72.4
430 R/ BSEE 44 43 87| 14.4) 72.6
U461 | = (] 44 43 87 14.4| 72.6|E
454 1I7i BE 46 47 93] 20.4) 72.6/RE
461 BFE = 42 45 87| 14.4| 72.6
47461 (HIE Bk 39 41 80, 7.2| 72.8
4841 fIE —RB 41 45 86| 13.2| 72.8
4961 = Bus 37 43 80, 7.2| 72.8
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571461 | K% i3 42 43 85| 12.0/ 73.0
58 |;EH =Rk 44 40 84| 10.8| 73.2
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6146 #8:F #BGh 41 37 78| 4.8 73.2
621 EE B 45 45 90| 16.8] 73.2
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644 |FIL SBA 41 43 84| 10.8| 73.2
65 ZEik B 41 36 77 3.6 73.4
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1241 ﬁﬁf& HLEB 42 45 87| 13.2| 73.8
1360 |82 ES 44 49 93| 19.2| 73.8
1AL 82 ZEBH 39 42 81 7.2| 73.8
15 | HA EFEX 44 43 87| 13.2| 73.8
166 | TRR = 39 42 81 7.2| 73.8
16 (#iE #E— 46 47 93| 19.2| 73.8/®kE
18 A &X 44 37 81 7.2| 73.8
196 R FX 47 51 98| 24.0/ 74.0
80z =R iﬂf 47 45 92| 18.0 74.0/kE
814z ;T Lt 1 43 43 86| 12.0/ 74.0
824i |thBH FE 40 40 80| 6.0 74.0
83 |{&EH H— 43 43 86/ 12.00 74.0
8441 |#HE A 43 43 86| 12.0/ 74.0
8o |HkE & 40 39 791 4.8/ 74.2
864 |HO #FFH 48 61 109| 34.8| 74.2
874 |EH %E'?AL:‘ 47 44 91 16.8| 74.2
884 |hAt F 42 49 91| 16.8 74.2|kE
894 |hH IERE 42 43 85 10.8| 74.2
90fsz |HA EA 42 43 85/ 10.8| 74.2|®E
914 8% 1Ez 39 46 85 10.8| 74.2
024 | K:;Z % 46 45 91 16.8| 74.2
93 A ZEB 42 48 90| 15.6| 74.4
UG EX F 40 38 78/ 3.6| 74.4
956 ZH XK 42 42 84, 9.6/ 74.4
964z |;IfE 18X 40 43 83| 8.4 74.6
9761 #BK  FE 43 46 89| 14.4| 74.6
984 =8 EX= 37 46 83| 8.4 74.6
pP-2 JO95ovodL2957




/4 MT\ [ A 2/ \—DER]
2025 &£ 7 A 21 B (B) 2025 £ 7 A 27 BH (B)
B AE IRNUT THFHIRE: 4 TIL/N—
HDCPERE: (B8) 36.0 (%) 36.0
(=1 UI' }lf
k Xk %k
79k @@@@@@@.@ 1V @ .@@@.@.@.
=
[[=Riva B E S g T9b 42 | GROSS| HDCP | NET

994 &KX Em 46 43 89| 14.4] 74. 6| E
1004z |=K §& 47 48 95/ 20.4) 74.6/#RE

101 BE =5 43 46 89| 14.4| 74.6

10242 [J\K E&F 44 44 88| 13.2| 74.8

1036 &R ZEF 44 44 88| 13.2| 74.8

10442 Pl FnEE 46 42 88| 13.2| 74.8

105 |= fESR 41 46 87| 12.0/ 75.0

1064 |EfH FEF 44 49 93| 18.0/ 75.0

10762 | KR¥fv =& 48 45 93| 18.0/ 75.0

1084 |FFFH &7 41 45 86/ 10.8| 75.2

1094z |[eh)Il FO& 44 48 92| 16.8] 75.2

1094z |[eh)Il FO& 42 44 86/ 10.8| 75.2
11142 |3apE =488 49 43 92| 16.8 75.2|#%E

11242 |HE B 39 41 80, 4.8| 75.2

M3z | = B 41 45 86/ 10.8| 75.2

114410 &KX Fi0 43 49 92| 16.8] 75.2

1156 X FX 47 50 97 21.6| 75.4

1164 #E X 39 46 85 9.6/ 75.4

17462 |/ S22 51 521 103| 27.6| 75.4

118461 Bl 2 44 41 85 9.6/ 75.4

1196 BE A 49 48 97 21.6| 75.4

12062 |[AK EF 47 44 91| 15.6| 75.4

12141 B8R {5 38 41 791 3.6/ 75.4
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12461 [ILiR IEA 47 43 90| 14.4) 75.6
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1594 | KA i 43] 42 85 8.4 76.6
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16962 Pl #0158 47 48 95/ 18.0] 77.0
1706 A & 38 45 83 6.0 77.0
1716 KX FE 56| 51 107 30.0/ 77.0
17262 fE<K Ria 44| 44 88 10.8 77.2
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17 | 5K —X 46, 47 93] 15.6] 77.4
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2066z |SRE EIr 49, 51| 100 20.4| 79.6
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2084 |fEmE —#t 42) 51 93] 13.2] 79.8
20961 =% S 51 54| 105 25.2) 79.8
2106 Q¥ &L 48 45 93] 13.2] 79.8
20161 | ARK Bz 47 52 99| 19.2] 79.8
21261 |'=H B 50, 48 98| 18.0] 80.0
213y | A G 53] 45 98| 18.0] 80.0
21461 EE R 59, 55| 114 33.6/ 80.4
21561 | K FX 46) 55| 101 20.4| 80.6
21660 | HEH KIr 49| 51 100/ 19.2/ 80.8
217461 |AT%7 2= 46] 54 100/ 19.2  80.8
21861 falf RE 42) 45| 87| 6.0/ 81.0
21961 |fREH  FI3K 51 46 97| 15.6] 81.4
22061 /e BB 52 50/ 102 20.4| 81.6
22160 8% E|(C 52| 56] 108 26.4 81.6
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23261 BH S 64 71| 135 36.0/ 99.0
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